Lesson 12

For the most part, this lesson involves merely the unearthing of some forms we already know. Present tense = 
Future just inserts its recognition point, a sigma 

How about the future middle indicative?  Well, take you present middle and again add you recognition point for the future (2nd P.P.) 

How about the passive?  Well the aorist and future passive are based off of the 6th principle part.  So the 6th p.p. recognition point is the  remember the 6th p.p. of since this is future (and not a past tense aorist) take off the augment and also add your future recognition point sigma  and finally that passive ending from the present (present being again future=

DEPONENT – A verbs dictionary form may appear in the middle/passive voice, being as there is no omega form of that verb (in certain principle parts).  So all you do with that passive form is translate is actively.   means, “I am coming.”  If you have a problem with deponents, perhaps you could just imagine that there’s an omega on the end instead of that passive ending.

Prepositions – just beware, prepositions that take more than one case may change meanings depending which case follows.  EX -  gen = with, acc. = after

KNOW 1) future forms, 2) what a deponent is, 3) prepositions (their meanings and cases), 4) vocab

